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const int MAXN=1e6+5;
namespace KMP

int f[MAXN!;

void find(char *sl,int n,char *s2,int m){//sO0 00100
int pos=0;
fl1]=0;
_rep(i,2,m

pos&&s2|i|!=s2/pos+l]|)pos=f|pos];
s2/i/==s2|pos+ pos++;
flil=pos;

pos=0;
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_rep(i,1,n
pos&&sl|i] '=s2pos+ pos=f[pos]|;
sl|/i/==s2pos+ pos++;

pos==m
printf("%d\n",i-pos+1);
pos=f [ pos]|;

char buf[MAXN!,str MAXN];

int main
scanf("%s%s",buf+l,str+1);
int n=strlen(buf+1),m=strlen(str+1);
KMP: :find (buf,n,str,m);
_rep(i,1,m)space(KMP::f[i]);

1

gd

ggg

000 $abcabcabc$0 O $f(n)=6$000 $f(6)$ 000 0O0O0O0O0O0ODO0O $abc$0 O OO OO0
$abcs 00O OOOOOOO

000000 $n-fin)\mid n$[JO $s[1,n]l$ 00 $s[1,n-f(N)$ 00O O0OCOOOODO

000 $abcabcasi0 O $f(7)=4$00 0 $f(7)$ 00000000000 $abc$O0OO0OODODOOO
0 $bc$ 000000 $abcs00DOOOO

Oo000gg $n-fin\nmid n$J0 0O $s[l,nl$ 0000000 $n-f(n)-(n\bmod {(n-f(n)})$ 00O 0O
$s[1,n-f(N)]$ 0000000000

goog
ogo
UVA11022

od

0000000 $s$00 $s¢ 000000 DOODO

googod

https://wiki.cvbbacm.com/ Printed on 2025/07/15 18:23


https://www.luogu.com.cn/problem/UVA11022

2025/07/15 18:23 3/4 ooo1

1. $abaaba\to ab(a)”2ba$[Ju O $6\Mo 540 OO O OO OO
2. $abaaba\to (aba)”2$[]0 O $6\to 3%
3. $abbabb\to (a(b)~2)"2$00 O $6\to 2%

od

0000000 $s$000 $s=s 1+s 2$00 0 $s=(s_3)"ks$[
0000 $\text{dp}sg0 0000 DO $\text{dp}(l,r)=\min_{Ne i\it r} (\text{dp}(l,i)+\text{dp}(i+1,r))$0
000000000 $s$000 $d$00 $\text{dp}(l,r)=\text{dp}(l,I+d-1)$[]

o000 $l=r\text{dp}(l,r)=1$00 000 0O $0(n"~3)$0

const int MAXN= ;
namespace KMP
int fIMAXN];
int get loop(char *s,int n
int pos=0;
fl1]=0;
_rep(i,2,n
pos&&s i) !=s[pos+1l])pos=fipos]|;
s/il==s|pos+ poOS++;
flil=pos;

finl||n%s(n-f[n ;
n-finl;

int dp[MAXN| [MAXN];
char buf[MAXN];
int dfs(int lef,int rig
~dp[lef!|rig dpllef|irig!;
lef==rig ;
int ans=MAXN;
_for(i,lef,rig
ans=min(ans,dfs(lef,i)+dfs(i+1,rig));
int len=KMP::get loop(buf+lef-1,rig-lef+l);
len)ans=min(ans,dfs(lef, lef+len- ;
dpl/lef! rig/=ans;

int main

~scanf("%s",buf+
buf[1]|=="*" ;
int n=strlen(buf+l);
mem(dp,-1);
enter(dfs(1l,n));
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